Math 135 Function Arithmetic & Composition Worksheet

1. Let f(z) =3x+1,g9(x) = 2* — 2z — 4, and h(z) = %

Compute the following and simplify.

(a) (f+g)(x) (2) f (0)

) (f - 9)(z) 0 (5)

(c) (f —g)(10) (h) (foh)(z)

(d) (f9)(z) (i) (ho f)(z)

(e) (hf)(z) ) = fla

(£) (f9)(=1) + (hf)(1) () (g))fa()
2 Let f(r) =50, glr) = - —129[;’ and h(z) = |2,

Compute the following and simplify.

(a) (go f)(x) (c) (ho f)(x)

(b) (fog)(x) (d) (fogof)(x)
3. Write each function as a composition of two simpler functions. (Answers may vary.)

(a) vV2r+1 (c) a? =3

1 2 -1
(b) — (d) 1622

4. Write each function as a composition of three simpler functions. (Answers may vary.)

(a) (52 —2)° (b) yEIZ
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